NTC TEMP = 28'C

DIE TEMP = 42'C

ASK = PASS
CEP = 0

ASK = PASS
CEP = 0

ASK = PASS
FSK: ACK

RPO

PRX = 1400
PTX = 1130mW

VBRG_V = 10280mV
VBRG_I = 11@mA
calling FO_Logic
FO threshold = 950
PLOSS_THRES = 950mh

PTX_CAL = 1763mW
PTx = 1130 mW, PRx = 1400 mW, 2pPTxcal = 1120 mW, PTxcalib = 1763 mW, Thres = 950 mW, corLoss = -633.

PLOSS = -633mW

ASK = PASS

CEP = 0

VIN_V = 14941mV
NTC TEMP = 28'C

DIE TEMP = 42'C

ASK = PASS
CEP = 0
ASK = PASS
CEP = 0
ASK = PASS
CEP = 0

VIN_V = 15039mV
NTC TEMP = 28'C

DIE TEMP = 38'C

ASK = PASS
CEP = 0
ASK = PASS
CEP = 0
ASK = PASS
CEP = 0

VIN_V = 14941mV
NTC TEMP = 28'C
DIE TEMP = 38'C
ASK = PASS

CEP = 0



